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CLASS-XI ( TERM - 1) EXAMINATION, 2022
( Paper - II )
CHEMISTRY
( Compulsory )
( MCQ Type )
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GENERAL INSTRUCTIONS / W= fidsr .

1. Carefully fill up the necessary particulars on the OMR Answer Sheet.
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Put your full signature on the OMR Answer Sheet in the space provided.
M ST I FRT OMR I 95 ¥ & 1 R | $3 |

There are 40 Muitiple Choice Questions in this Question Booklet.
T I Y F g1 40 wg-foeedts e §

4, Al quéstions are compulsory. Each question carries 1 mark. No marks will
be deducted for wrong answer.,
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1.

Science

The molar mass of CH4is

(%J 16 u (2) 20 u
\,(91 10 u (4) 24 u

CH, #1 HieR FA9H &

(1) 16u ' (2) 20u
(3) 10u 4 24u

The ratio of number of moles of solute to the total number of moles 1n
solution is called

\[\ 1) "Molarity (2) Molality

(3)  Mole fraction (4)  Normality

foreit forererr o foeta &7 wiett wd forcrem o sufem ot Tt ®) de & SO B
Fed ¥

(1)  HeRar (2) Hiererar
(3) T (4)  AATHEr

The amount of CO, that could be produced when one mole of carbon is

burnt in air is

(1) 22¢ (2) 5S0g
(3) 44¢ (4 Sbg
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U Ol &IE9 & ga] H €84 9 I COQﬁ'{TﬁHﬁT?ﬁTﬁ

() 22¢g 2 S0g
(3) 44g 4) 568
4. The SI unit of temperature is
(\1\/] Kelvin (2)  Celsius
(3)  Fahrenheit (4)  Centigrade

99 %1 S.I. gl ¢

(1)  FealA (2) WedlEw
(3) WeRE (4) WS
5. 60 gm of an organic compound on analysis is found to have C = 24 g,

H = 4g and O = 32 g. The empirical formula of compound is

(1) CH,0 (2) CHO

(3) C,H,0 .4 CH,O
6ogmﬁaﬂﬁ@¢%¥ﬁwﬁc=z4g,H=4gaeno=32gwnm|3;1
(1)  CH,O0 (2) CHO

3 CH,0 (4)  CH,O

XS-CHE-(Comp.)-S 4/ 20

https://www.jharkhandboard.com



11/11-11021 @ CHE

6.

8cience
What will be the molarity of a solution that contains 5-85 g of NaCl per
00 mL ?

(1) 4 mol/L (2) 20 mol/L

(3) 0-2 mol/L (ﬂ 2 mol/L

39 Tl foermm &) iewar w@n a9 9fd 500 mL T 5-85 ¢ NaCl foemn

T E ?

(1) 4 mol/'L (2) 20 mol/L

(3)  0-2 mol/L (4) 2 mol/L

Number of protons, neutrons and electrons in the element g, X*° is
(1) 89, 89, 242 ‘_9)’ 89, 142, 89

(3) 89,71, 89 (4) 89, 231, 89

forclt 71, X3 & e, =g @ s ) e &

(1) 89, 89, 242 (2) 89, 142, 89

(3) 89,71, 89 (4) 89,231, 89

Which one of the following sets of ions represents a collection of
isoclectronic species ? (At, No. : F=9,Cl= 17, Na= 11, Mg= 12, Al = 13,
K=19, Ca=20,Sc=21)

(I, K*,Ca? s8¢, cl (2) Na*,Ca2* sc3*.CI

L |

(3) K*,C1" ,Mg?* Se (4)  Na*,Mg?* Al** CI”
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B ad @)

CHp

Wﬁ@ﬁ—w@zmﬂaﬁaﬁ%ﬁﬂﬂﬁ%@gﬁﬁﬁﬁﬁmﬁ ?

(TRHW] W@ : F =9, Cl = 17, Na = 11, Mg = 12, Al = 13, K =19, Ca =2q,
Sc=21)

(1) K*,Ca?* Sc® CI- (2) Na+,Car"_+,Sc3+,Cl"
(3) K*,CI",Mg?* sc3* (4) Na*,Mg?*, AI°*,CI”
The magnetic orbital quantum number specifies

(1}  size of orbitals

(2)  shape of orbitals

(?) three-dimensional orientation of orbitals

{(4)  nuclear stability

T FETH FCH WEAT Ghad FIT &

(1) ITHRTH HHR (2) 3TN & ahy

) T B sfafea 4) e oy ey

The orbital with quantum number n = 3,1=2is
(1) 3s 2 3p

2p
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T T > n = 3, [ = 2 T 3UFEF B

(1) 3s (2)

3p
3) 3d 4 2p
L1~ Which atom is indicated by the configuration [He]2s' ?
(I)  Be (2r Li
3) B 4) C

[He|2s' fo=mg amen gemmy #9-a gm 2

(1) Be (2) Li
3) B (40 C
12, "No two electrons in an atom can have same set of all the four quantum

numbers" is related to

(1) Hund's rule (2)  Aufbau rule

(3] Pauli's exclusion principle (4)  None of these

Tl T # S T B AR deien demet w oo w98 @ gear”
— 7E Fetud €

(1) g FHFEmIA (2) %S % fram @
(3) Ul & AaeH fgg Q (4) T T T
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13.  Which group of elements is commonly known as halogen

(1)  Group 16 (23, Group 17
(3)  Group 13 (4) Group 15
e WHE & Acal Bl EoilS % AW @ ST A€ 7
(1) 16 (2) W17
(3) ¢ 13 (4 ¥FEF 15
14.  Which of the following configurations has the highest ionization energy ?
(1) ns np: (2) nsgmzr3
@) ns’np’ (4)  ns’np'
it o forg Fomag 1 TR St st & o
(1) ns’np’ (2} ns*np’
(3) ns'np’ 4 ns?np!
15.  How many groups are present in the modern periodic table 2
y 15 (2" 18

G 10 4) 20
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() 15 2) 18
(3) 10 (4) 20

16.  Outer electronic configuration of s-block elements is

W : ns' 2) ns®

(3) ns ~? 4) ns’np' ~°
i e R R CAIEC R E R

( ns' @ ns

(3) ns ° @) ns’np' ~°

17. In the modern periodic table, the period indicates the value of

(1)  atomic number (2) atomic mass

(3) principal quantum number  (4)  azimuthal quantum number

meﬁﬁmﬁm@ﬁm%

(1) —TREM GE (2)  TTHI] 9
(3) [EF Wien Y@ (4) fivig weien &
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18. Transition metals are present in

(1)  p-block (2) s-block
(3)  d-block (4)  f-block
HOT T IUTRIT €
(1) pEEH (2) s H
By o= A (4) fi d
19. "Equal volumes of all the gases under same conditions of pressure and

temperature contain equal number of molecules” is known as
(1) Charles' law (2} Boyle's law
(3) Avogadro's law (4} none of these

“T% @ A0 AR W R T S g s avpet @ g w9 o e

frm 2
(1) = & fFrm (2) e @ fy
(3) g i Fraw (4 T R

20. PV=nRTis

ALY Ideal gas equation (2} Real gas equation

(3) Elementary gas equation (4)  none of these
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21.

22,

PV=nRT%
(1)‘ 3TeRT N wHiSHoT (2) e g aHEr
(3) wrafgs g wHiEo 4) T | FE T

What will be the minimum pressure required to compress 500 dm® of air
at 1 bar to 200 dm® at 30°C ?

(1) 3:5bar 2y 2-5bar
(3) 700 bar (4) 900 bar

30°C @9 W& 1 bar TE W, T % 500 dm’ 3TTA F! 200 dm® o ddifed s
& fotu fvam = g+t stavaswar vl 2

(1) 35 bar (2) 25 bar
(3) 700 bar (4) 900 bar

% = constant ( n, Pconstant ) is

\_(})*// Charles' law (2) Boyle's law
(3) Avagadro's law (4) Gay Lussac's law

%:f@lﬁﬁ(ﬁﬂ‘(FﬁﬂTnW)%

(1) =od® g (2)  dfaer = faw
3) FmEmet & Fam (4) N g% w1 Fam
XS-CHE-(Comp.)-8 11 7 20
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24,

The relationship between the three variables P, V and T by (:Cﬁl’l'l’climng

Boyle's law and Charles' law is

PvV. PV
B 171 _ 22
1) RVT,=RV,T, (2) T T,
VT, VT
(3) —}Tl=—;-£ (4)  none of these

d7 = P, v i T e, e & fn @ e % PR OEE 6 /S b

()  AVT = FV,T, (2) v - BV,
. T] T
2
(3) EI_TL= Vol .
P F, 4) g FIS 7&

(3)  8-.430x1023

< ey 3
(1) 6.023x10%3

R 4 218 x 1023
(3] 8-430x10%

4 8 430;(1029
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Which element will show diagonal relationship with Lithium (Li)?

25.

26.

(1) Mg (2) Na

(3) Al (4) Ca
ﬁmﬁﬁaﬁmmaﬂéﬂﬁm[u)%mﬂmﬂiﬁdﬂmﬁmm% ?
(1) Mg (2) Na

(3) Al (4) Ca

Solvay's process is used to prepare

(‘\U/ Sodium carbonate (2)  Sodium chloride

(3)  Sodium sulphate (4)  Sodium nitrate

Hied wferar | AT ST &

(1) Wiiean HEHS (2) Wifead FARES
(3) difemd aehe (4) wifgam A

Which colour is imparted to the flame by calcium ?

(1) Pink (2) Purple

s .
{3y Brick red (4) Crimson red

XS-CHE-(Comp.)-S8
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FHicwam ot § -7 T welia s 2

(1) 7Tl (2) W
(3) S o (4)  TopEE @A

28._~The formula of plaster of Paris is
(1) CaSO,.H,0 (2) CaS0,.2H,0

(3)  CasO,.1H,0 (4)  CaSiO,

(1)  CaSO,.H,0 (2)  CaSO,.2H,0
O 1
6] Caso, 4H,0 4)  CasiO,

29.  The oxidation state of K in KQ, is

(1) +4 (2)  +5
(3) . +1 @+ 1
KO, ¥ K 1 siferfieror sramer &

Q) +4 R
G+ @ L
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31.

CH30CH3 and CH,CH,OH are

(1) chain isomers

. (3} functional group isomers

CH,OCH, T4 CH,CH,OH ¥
(1) St gHEad

3) fraers TgE goEag

<>

(2)

(4)

(2)

4)

CHE
Science

position isomers

tautomers

fearfa gaeaa

JAIIEdl 9HEIq

The IUPAC name of the following compound

CHS-—CH = ('J—CI I,—CHj,
CH,—CH,—CH4
1S

(1}  3-ethyl-2-hexene

(3) 3-propyl-2-pentene

?ﬂ-ﬁfﬂﬁaﬁ Eﬁﬁﬁ F [UPAC 919 &

CH -—(,H - C—CH ,—CH,
1

% (‘;Hg—nf.‘,}{g_cﬂ3

(1) 3-she-oddm
(3) 3-Wfte-2-4=

XS-CHE-(Comp.)-S
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(4)

(2)

-4

3-propyl-2-hexene

4-ethyl-4-hexene

3-gifet-2-2ad

434 i
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32. Heterolytic cleavage of C — X bond may result in the formation of

(1) free radical (2) carbocation

(3)  carbene (4) none of these

C - X oY % argnw fomves @ v g
(1) 7 Torh (2)  HEYAIA

(3) wifem (4) T 9 HIE &

33.  Which of the following is not an electrophile ?

+

m c @ o
@ W 4 BF,
7 5 9 - e e 6 g

wcr @ or
S (4)  BF

34.  The following reaction is an €xample of
CH;CH,I + KOH {aq}-—JvC}-ISCHQOH + KI

(1) Electrophillic substitution 2 §
%/ ucleophillic substitution

(3) Elimination (@
) Addition

XS*CHE-{Comp.I_S
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fFrefefea affswar sgmror &

CH4CH,! + KOH (aq)—» CH,CH,OH + KI

(1) TR wiawne & (2) fwEwErR sfawmE
(3)  faeiem = (4) TESH #

35. The correct order of carbocation stability is

(1} CHY < CH,CH} <(CH,),CH* <(CH,),C"

(2)  CH,CH} <(CH,),CH" <(CH,;),C* < CHj

(3)  CHj < CH,CH} <(CH,),C" <(CH,),CH"

(4) none of these

FEYIRA % WA H T HA &

(1) CHj< CH,CH] <(CH,),CH" <(CH,),C"
(2)  CH,CHj <(CHy),CH" <(CH,),C” < CHj

(31 CH? < CH,CH; <(CH,),C" <(CH,),CH"

(4) 7 A wE A
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36. Alkaline earth metals belong to

y (17 Group 2 (2) Group 1
(3)  Group 3 (4)  none of these.
&R 31 deall & afarta a7 &
(1) @2 (2) @1
(3) =3 (4) T @ FE T

37. Bond order of Hta-2 molecule is

(1) 1 2) O

(3) 2 ,(4) _none of these.

(1) 1 (20 0
(3) 2 4) 9 QA HE

38. The formula of Quicklime is

(1)  caco, (2 cao
(3) Ca(OHj, (4)  none of these.
XS8-CHE-(Comp.)-S 18 / 20
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Al ST 5 T G ¥

(1)  CaCo, (2} CaO

(3)  Ca(OH), (4) T 9 B A
r39’ O Is

(1)  Cyclopentane (2] Cyclohexane

(3]  Cyclobutane (4)  none of these.

ol

(1) W= (2) AR

(3)  AEFAA (4 T F HHE A

40.  The particulate pollutant, smog is present in
(/1‘],.-/" Troposphere | (2)  Stratosphere
(3)  Both (1) and (2) (4)  none of these,

(1) vwee | (2)  OHAOHeH |
(3) (1) T (2) FFT A A 4 FTHIH T
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